Day 29

1. Find the area of this complex
shape.

10 cm

wog

2. A box has the following
dimensions:

22in x 25in x4in

What is the volume of the box?

3. 219+3.095=

4. Use the distributive property in
reverse to rewrite the expression.

2d+16 =

5. Solve and graph the inequality.

z+4<8

A
v

6. Rewrite in order from least to
greatest.

1 49

7 519, 00 0.503

7. Which numerdls from the

solution set make the inequality

true?
8x+2<26 {1,23,4,5,6}

X=

8. Find the LCM for each set of

numbers.

16 and 24

10and 15

4,5 and 12

9. Find the surface area of the
pyramid.

18in

>







